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I nmwn: dispute among 1327 as to possible duration of nwp
a  »”:even40 or 50 days
i Question: if 50 is acceptable, why mention 40?
1 Answer: if she is sickly, may be as long as 50; if healthy, no longer than 40
ii ~ Dispute 29/ about days in which birth will be "1nvn” mother’s oT: version #1
1 »5 only if born on day that could have been na1 oy (i.e. until day #11 of post-mT)
2 a7 evenif born on day that could have been a day of counting n»pi "1 (i.e. until day #18 of post-mT1)
3 7378 72 TR ’T. according to 27, even days that could be 1M (i.e. at any time, as long as its after mm »m)
(a) Test:against n”’s opinion — how could "% justify this many days of »wp (which is 1110)?
(b) Answer: n" doesn’t rule that they are all 10 — those during nm » — she is nT; during N1’ — she is NNV
iii ~ Alternate version: of dispute n5/21
1 »% only days in which she could become n%17a nar (until day #9) — per v. 1 (o271 > nnT)
2 37(quoted by 5w 8aN): even days on which she could be mvp nar (Dy 713 DY NINMW) per v. 1 (07 H3)
(a) Test: against n"’s opinion — challenge to both 17 and "5
(b) Answer: n"1 doesn’t rule that they are all 10 — those during nm » — she is nT); during N1’ — she is nMNL
iv  Related 8112772 n™ outlines possibility of woman having 150 straight days of bleeding related to childbirth — yet not a nar
1 calculation: days #10-11, 7 days of nT1 and next 2 days (11)+50 days of »wp before birth (61)+80 days of napy 7o 7
(141) +7 days of nm (after 7mv o7 - 148) and 2 days of na’t (150)
(a) Challenge: why not have her go on forever (if she has miscarriages, each within 1mv »n)?
(b) Answer (n”): there is no consideration of »"»1p except for live births
v Related 8112272 (7227): outline possibility of woman having 100 straight days of bleeding related to childbirth — yet not a nar
1 calculation: 2 days of N2t !m>+7 of nT3+2 of N1 M + 80 of Napy 1MV BT (91)+7 of N1 and 2 of nar
2 Justification: teaches (contra opinion educed above) that it is possible for ona to open without blood
b /7miw ’1. she gets the month (last month of pregnancy)
i N112272 DT "1 (quoting 1970 1) — sometimes, this can be a X91p, sometimes a XN
1 ~7p1mif she has has 2 days at end of 8" month and 1 at beginning of 9 (follow 217 — judged to be pre-nwp)
(a) Then: even if she gives birth at beginning of 9" month, considered 112 n15y
2 x5 if she has 1 day at end of 8t and 2 at beginning of 9th
(a) Then: even if she gives birth at end of 9" month, not considered 2112 n19v (as long as no o7 during rest of 9th)
3 7278 73 K78 ’7. infer that ™ holds that the onset of 9t month causes "v’p (and all 07 seen then is *w1p o7)
(a) Challenge: Yrmw ruled that women give birth on days 271, 272 or 273 (from conception)
(i) Inotherwords: childbirth is always at end of 9" month
(if) Defense: 9810w was following mnwrIn 0*1on who, following ®*vn» of 11n-271 (v. 2), would even calculate
their cohabitations so that childbirth would not lead to naw 5%n
4 x7VIr 7P even those who hold that a full-term birth is always at end of 9 months, agree that a 7-month birth could be
at beginning of 7" month — per v. 3 - mapn (6 months — 2 “season”) 0 (+2 days)
c w7 oy 1 maximum MNP is 2 weeks
i S81pw: source — v. 4 implies that D»»12w is only NnT13, not Nna r=>nat is pure for 2 weeks
ii %7 &8no01™ maximum possible days of bleeding before birth that will be 9nv n by 79 - 25
1 Calculation: 2 at end of N1 '0+7 of NT1+2 at beginning of na'r (11)+14 before birth (w121 *01 "12)
(a) And:impossible for her to have 26 days of *W1p without giving birth — and have it not be 2112 n75v
(i) ~37(fixing understanding of #r12273): and if there is no 19m, 3 days alone will render her nar
(if) Reason: m9:1% "wp PR — there is no permitting agent of »p if she has a Y23
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